Unit 2.1 Notes: Polynomial Operations
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Just like we can use long division to divide numbers, we can also use long division to divide
polynomials. If the remainder is 0, then you have found a factor of the polynomial.
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Recap: When you are asked to determine if something is a factor of an expression, you use
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As fun as long division is, there is a faster way called synthetic division. It basically allows us to
deal strictly with the coefficients and worry about the variabies later.
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4) Use synthetic division to divide the polynomial.
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5) If the polynomial x3 + 6x% + 11x + 6 expresses the volume, in cubic inches, of the box
and the width is (x + 1) in., what are the dimensions of the box?

6) The voiume, in cubic inches, of the decorative box shown can be expressed as the product
of the lengths of its sides as V(x) = x3 — 4x2 — 9x + 36. What linear expressions
renresent the length and height of the box?




